



Name: \_\_\_\_\_

Date: \_\_\_\_\_ Score: \_\_\_\_\_

$$(\frac{3}{4} - \frac{3}{4})^2 - \frac{1}{3}(\frac{1}{3} - (\frac{1}{2})^2) =$$

$$(\frac{2}{3} - (\frac{1}{6})^2) \times \frac{1}{6} - (\frac{1}{2} - \frac{2}{3})^2 =$$

$$(3 + \frac{3}{5})^2 + \frac{3}{5} \times \frac{1}{4} \times 4^2 =$$

$$(3 - \frac{1}{6})^2 - \frac{3}{4} - 5^2 \times \frac{1}{3} =$$

$$((\frac{1}{2})^2 - \frac{1}{5}) \times \frac{3}{4} + (\frac{3}{2} + \frac{2}{5})^2 =$$

$$(\frac{1}{6} - \frac{3}{5})^2 - \frac{3}{2}(\frac{3}{4} - \frac{1}{3}) =$$

$$(\frac{1}{2} - (\frac{1}{2})^2) \times \frac{1}{3} + (\frac{1}{6} + \frac{1}{2})^2 =$$

$$((\frac{2}{3})^2 + \frac{1}{3}) \times \frac{1}{4} - (\frac{1}{6} + \frac{1}{2})^2 =$$

$$(2 - \frac{1}{2})^2 - \frac{1}{5} - \frac{3}{5} + 2^2 =$$

$$(\frac{1}{6} - \frac{2}{3})^2 + \frac{1}{2}(\frac{1}{5} + \frac{3}{4}) =$$



Name: \_\_\_\_\_

Date: \_\_\_\_\_ Score: \_\_\_\_\_

$$\left(\frac{3}{4} - \frac{3}{4}\right)^2 - \frac{1}{3}\left(\frac{1}{3} - \left(\frac{1}{2}\right)^2\right) = \left(-\frac{1}{36}\right)$$

$$\left(\frac{2}{3} - \left(\frac{1}{6}\right)^2\right) \times \frac{1}{6} - \left(\frac{1}{2} - \frac{2}{3}\right)^2 = \frac{17}{216}$$

$$\left(3 + \frac{3}{5}\right)^2 + \frac{3}{5} \times \frac{1}{4} \times 4^2 = \frac{384}{25} = 15\frac{9}{25}$$

$$\left(3 - \frac{1}{6}\right)^2 - \frac{3}{4} - 5^2 \times \frac{1}{3} = \left(-\frac{19}{18}\right) = \left(-1\frac{1}{18}\right)$$

$$\left(\left(\frac{1}{2}\right)^2 - \frac{1}{5}\right) \times \frac{3}{4} + \left(\frac{3}{2} + \frac{2}{5}\right)^2 = \frac{1459}{400} = 3\frac{259}{400}$$

$$\left(\frac{1}{6} - \frac{3}{5}\right)^2 - \frac{3}{2}\left(\frac{3}{4} - \frac{1}{3}\right) = \left(-\frac{787}{1800}\right)$$

$$\left(\frac{1}{2} - \left(\frac{1}{2}\right)^2\right) \times \frac{1}{3} + \left(\frac{1}{6} + \frac{1}{2}\right)^2 = \frac{19}{36}$$

$$\left(\left(\frac{2}{3}\right)^2 + \frac{1}{3}\right) \times \frac{1}{4} - \left(\frac{1}{6} + \frac{1}{2}\right)^2 = \left(-\frac{1}{4}\right)$$

$$\left(2 - \frac{1}{2}\right)^2 - \frac{1}{5} - \frac{3}{5} + 2^2 = \frac{109}{20} = 5\frac{9}{20}$$

$$\left(\frac{1}{6} - \frac{2}{3}\right)^2 + \frac{1}{2}\left(\frac{1}{5} + \frac{3}{4}\right) = \frac{29}{40}$$